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Exceptional Practice To Application Delivery Fundamentals Exam Pass the First Time

QUESTION 130

A site has six members in a pool. All of the servers have been designed, built, and configured with the same applications. It is known

that each client&#8217;s interactions vary significantly and can affect the performance of the servers. If traffic

should be sent to all members on a regular basis, which loadbalancing mode is most effective if the goal is to maintain a relatively

even load across all servers.

*  Ratio

*  Priority

*  Observed

*  Round Robin

QUESTION 131
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CORRECT TEXT

The layer 3 security feature__________Cookies protects against SYN floods, DoS, and DDoS attacks. (Fill in)

contain / include

QUESTION 132

If the BIG-IP device is NOT always located between the client and the server, it will NOT provide full optimization and security.

*  True

*  False

QUESTION 133

How is persistence configured?

 

 

*  Persistence is an option within each pool&#8217;s definition.

*  Persistence is a profile type; an appropriate profile is created and associated with virtual server.

*  Persistence is a global setting; once enabled, load balancing choices are superceded by the persistence method that is specified.

*  Persistence is an option for each pool member. When a pool is defined, each member&#8217;s definition includes the option for

persistence.

QUESTION 134
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DRAG DROP

Match the security-related term with the correct definition.

1. OWASP Top 10

2. Secure Socket Layer (SSL)

3. Bot

4. Certificate

5. Content scrubbing

Select and Place:
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QUESTION 135

When using only LTM in redundant pairs, a customer can load balance to multiple data centers.

*  True

*  False

QUESTION 136

Which of the following business benefits does storage tiering offer to customers?

*  Reduces time for backups because data on the secondary tier can have a less time intensive backup policed applied to it.

*  All of the above.

*  Enables customers to apply a more aggressive RTO/RPO for business critical Tier-1 unstructured data.

*  Reduces money spent on storage since the majority of data can be moved to less expensive secondary tier storage.

QUESTION 137

in which scenario would an SSL VPN solution have an advantage over an IPSec VPN?

*  when users are unable to install software on their PC

*  when users require a secure connection to the corporate network

*  when users work remotely

*  when users require the ability to RDP to internal resources

QUESTION 138

Which of the following statements best describes the ARX architecture?

*  The ARX&#8217;s split path architecture has a data path that handles the most common operations, and a control path that
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handles other operations requiring deeper inspection and updating of the index.

*  The ARX&#8217;s architecture has redundancy built in, allowing a single ARX to be deployed in most use cases which provides

a huge cost savings to customers.

*  All of the above.

*  It is a software agent that installs on the storage device.

Explanation/Reference:

QUESTION 139

WebAccelerator uses three tiers to improve performance. What are the three tiers?

*  Bandwidth offload

*  Client offload

*  Application offload

*  Protocol offload

*  Web server offload

*  Network offload

Explanation/Reference:

Explanation:

QUESTION 140

Which two of the following LTM load balancing methods require the least amount of resources? (Choose two.)

*  Round robin

*  Ratio

*  Observed

*  Fastest

*  Predictive

*  Least connections

Explanation/Reference:

QUESTION 141

LTM can only load balance outbound traffic by using iRules

*  True

*  False

QUESTION 142

Which two of the following LTM load balancing methods require the least amount of resources?

(Choose two.)

*  Round robin

*  Ratio

*  Observed

*  Fastest

*  Predictive

*  Least connections

QUESTION 143
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Which of the following is NOT a logging option within an APM access control entry?

*  Packet

*  Verbose

*  Nominal

*  Summary

*  None

Explanation/Reference:

Explanation:

QUESTION 144

If a customer has an application that uses a customized protocol, what LTM feature can help optimize the traffic from the

application?

*  iRules

*  Networkvirtual servers

*  HTTP classes

*  Packet filtering

*  Transparent virtual servers

Explanation/Reference:

Explanation:

QUESTION 145

In IPv4 the loopback IP is 127 0.0.1. or IPv6, what is the loopback address?

*  FEBO::1

*  FF8Q 0.0 : :1

*  2001 :: 127 : : 1

*  : : 1

QUESTION 146

APM provides access control lists at which two OSI layers? (Choose two.)

*  Layer 5

*  Layer 4

*  Layer 7

*  Layer 6

*  Layer 2

Explanation/Reference:

	

	

New 2023 Guaranteed Success with ExamsLabs 101 Dumps F5 PDF Questions [Q130-Q146] |  Page 6/7  |

https://blog.examslabs.com/?p=767
https://blog.examslabs.com/?p=767


This page was exported from - Exams Labs Braindumps 
Export date: Tue Nov 26 20:22:23 2024 / +0000  GMT

101 EXAM DUMPS WITH GUARANTEED SUCCESS: 
https://www.examslabs.com/F5/F5Networks/best-101-exam-dumps.html]

New 2023 Guaranteed Success with ExamsLabs 101 Dumps F5 PDF Questions [Q130-Q146] |  Page 7/7  |

https://blog.examslabs.com/?p=767
https://www.examslabs.com/F5/F5Networks/best-101-exam-dumps.html
https://blog.examslabs.com/?p=767

